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£ | Exercise 1.3

In exercises 1-12, simplify the numerical expression.

L |-4]+]7| 2. |5|+]-6| 3. —|-5| 4. -|6|
5. |-5]| 6. -|-6] 7. |-4|+|-7| 8. |-sl|
9. |l4]-]-7]] 10. ||5]-|-6]| 1. ||-5]-|2|| 12. ||-3]-|-7]
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In exercises 13-22, simplify the numerical expression, and find the additive inverse of the simplified number.

o . 1,1 2 4
13. -3 4. -3 +5 15. -5+3 16. e 17. |—5|+\7|
18. |-6|+|-4 19. -(-9 -~ |
5|+ -4 (-9) 2. || 2L 2]-s5|-|-5| 22, |-3-3-3
In exercises 2 bve the equations,
23. xl=3 24, ,.X' =4
" 25, |x—4‘=2 26. |x+1| =1
. X477 =-3=6 28, |x-7 +2=
e w-7l+2=3 g 2x-4]=5 30. |3x-1| =4
C5-3x(-2=5 3% (6-24| 4322 33 [x-4|=0 34. |x+5| =0
X 3 X ) X .
35. |, -5=, 36. |5 -2 =é 37, |2 1{ S g 1102
. 3 —=|l=—= —x+3i1=7
2 7 3 9 s % ‘4" b
39, |3-x|=3 40. |7-2x|=3 4
G s : f 1 |7‘x‘=— 42. |-7-x| =2
43, 9x—~2~I=§ 44. 6x+-2—|=§ 45, ‘5~3\x_11 | x|
2|=7 46. ‘9+"3‘%=1
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In exercisey ¥

85. |x[<3

8. |x+7| +4<8
93. ]2x—4t<7

97. |2x-3|<-3

101. 25 L sﬂ
3 2|6

105. [x-1| > 5

86.
90.
94.

98.

102.
106.

¢ and graph the inequality.

x| <2
|x-7|-2<506
|-2x - 4] <

30 - 1] S -2

|
Es 1] <3

|x| =5

87. |x-2| <5
91. |2x- 1] <5
95, |3x—4|-5<3

99. |5.\7—3|£—4

103. |x|>3
107. |x + 5[ 26

1.3 Solving Absolute value Eq

88. |x +2| <3
92. |3x +4| <2
96. |2x+3| +5<6

100. |-3x + 6] < -5

104. |x| =3
108. [x - 5| <1
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